il

g
=
s
i

1. ¥¥4
B4 ST 6 AEEE AL SERGERRT (FD2) X5
JBA T JE R B R VR S T AT & ERHT

2. EBEAR
1) FEF4 PR SEE ST TS
291 H H &f1 74 3H 4H

2) JE1THIR
£ o THF12H19H

3) &FEtHM
AFEBIT, EiE 2 2 6 SEABKFEREICI T, EE - EWFOBRGHE 21T

SEHTH D,

4) FEHBNA
BE TEERRILR) D LBY

E+sZi@E SN



PR NER =

ull
P

¥4 | D6 EEEARSGEREMERET (20 2) ¥% E AT ESS
HH JE R
THH - T - R A7 ¥ & & KA OB ORR
TR = 1 8,021, 664
JEREE 2y 1 4, 869, 976
TERE R 2y 1 4,869,976 | JEMEAEREE (A)
(1.1 )1 (km) =
#ER.1/1, 000
AR ZE AR R =X 1 934, 666
R AR ZE G RN 2y 1 934, 666 | A RAEAIRRE
1 &
#E R 1/500
—tEEYER R = 1 2,217, 022
— SRR R =X 1 2,217,022 | &R
(6 )1 (fFpn K
BESi] = 1 871, 900
im GEEER) = 1 871, 900
Tavs = 1 591,500 | ¥TAE
1 =
DAt = 1 153,200 | &A1 A
1 [A]
A HATE I L DHiE
3 [A]
B S TERK, = 1 127,200 | ABAREFESLTERL
1 ES
ERERE = 1 464, 038
[ERE5 S = 1 464, 038

-1- E+sZi@E SN



£ N 2R 2
FE R N ERE
¥4 | D6 EEEARSGEREMERET (20 2) ¥% E BOES
H H B
THH - T - fER] B fr # 4 % OB ORR
TR AR E = 55,038 | fit#® (it LE - i)
1 =
Ty 2 409, 000 | RS ERE
1 X
EEEM (FOMs MR <) =X 9, 357, 602
Z DA =Y 4,704, 491
— B PR =X 7, 567, 907
SRR X 21, 630, 000
-2 - E A28 SUNHT R



